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rate/cell by loop module ID
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difference between noise rate and mid-tray fit

N
o
|

o
I|I|II|I||I|I|II|I

o1

AN
o

_15F|||||||||||||||||||||||||||||||
0 20 40 60 80 100 120 140



rate/cell by tray module ID, TrayIDinLoop=0 rate/cell by tray module ID, TraylDinLoop=1 rate/cell by tray module ID, TrayIDinLoop=2 rate/cell by tray module ID, TrayIDinLoop=3 rate/cell by tray module ID, TrayIDinLoop=4




[ rate/cell by global module

D |

35

30

25 H

20

15

10

0

o

©

[ NModules by
0O

60
55
50
45
40

35

°+|I|||I|I|I|I|||III|II|I|I|I|||I|

[ rate/cellby ®

, IDinLoop-Corrected |

200

|
250

|
300

|
350

6

-2

-.HI|I|I||I|||

OH||||-L,

|
100



rate/cell by tray ID, nHits/tray/ev>25 |
U.U35

0.03

0.025

0.02

0.015

0.01

0.005

0

[T T

rate/cell by tray ID, nHits/tray/ev>50 |

J
0.025

0.02

0.015

T
1

0.01

0.005

o O L L L 1

rate/cell by tray ID, nHits/tray/ev>100 !

0.012

0.008

0.006

0.004 |_
|

0.002 |—|
o Ol L L L 1 L L L 1 L L L 1 L L L 1 L L L 1
0

<HTT

rate/cell by tray ID, nHits/tray/ev>190 !

0.001

0.0008

0.0006

0.0004

0.0002




| nHitslev, ToT range |
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